Please complete all the problems and show all your work.

Distance Formula (problem 1):d = \/(X2 -x)2+(y,-y,)°

Midpoint Formula (problem 2): (
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1. Which is closest to the length of GH ?

97
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H AT6
B. 10.2
C 136
D. 158

4. Z£4 and £B form a linear pair. If
msd = (6x—19)" and m£B = (11x - 22)’,
find m£B.

A. 597
B. 65"
C. 15
D. 121"

Use the same diagram for questions 5-7.

5. Which pair of angles represent corresponding

\ }\V A. Z4and £5
11378

A B. 26 and 27

& C.3amd 28

, - D. 21 and £3

2. 7L has coordinates J(-6, 1) and L(-4, 3).
Find the coordinates of the midpoint

(LD

6. Which information would prove [ || m?

A L2=.5
B. £1=.8
C =27
D.mL3 + ms4 = 180"

3. The two lines below intersect as shown.
What is the value of x?

7.101 || m and mZB = 109°, what is m£5?

| msS =

8. Which pair of lines must be parallel?

— A.pandr
B.gand:
; Cpands
L
g

D.gandr
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4, Jasmine is making a triangular garden, Two
sides of the garden measure 6 feet by 11
feel. What is the range of possible lengths,
in feet, for the third side, 1, of the garden?

[Je<x<[]

5. A triathlon event in which participants
run, bike, and swim certain distances is
mapped out in a triangle as shown below.

1. Given AJEL, find m 2L

{12r -9y
(ar +

J (2x+7r

A 43
B. 47
C.52
D, 55"

1y

find m_Z.

2. Given AVTZ, if XT a1Z, and m2¥ = 227,

X
¥
I miZ = I
P s E

Swim

Bike

Which statement must be true?
A. The run distance is greater than the
swim distance.

B. The bike distance is kss than the run
distance.

C. The swim distance is less than the bike
distance.

D. The bike distance & greater than the run
distance.

3. Which of the following side lengths could
form a triangle? Check all that apply.

077215 | [D1s38 |
o244 | [ow2,11 |
016149 | [o323539 |

6. InADEF, DE = 29 feel, £EF = 26 feel, and

DF = 32 feet. Which correctly gives the
order of the angle measures from largest to
smallest?

A.ZE, ZF, 2D
B.F, 2D, E
C <D, ZF, ZE
D. £E, 2D, LF

7. If ACMD = ARTI'T, what must be true?

AmsiC=msY
B.miD=msR
C.CD=RY
D.MD =RW




8. Given: XZ bisects ZN1XT and ZN1ZT.
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Based on the information given, which
triangle congruence theorem could be

used to prove AVTTZ = AXTZ?
A. Sde-AngleSide €. Angle-Angle-Side
B. Angle-Side-Angle D, Side-Side-Side

J I N

Complete the proof of AJEL = ALVN by
writing the letter of the reason in the box.
Reasons may be used more than once.
Not all reasons will be used.

Statements
|1 D7, I 3%

[2.41.:11;4\@'.4’1.1“;1.\1 | 2.

9. Which pair of triangles ¢
congruent?

AN
N

t be p q

|3. TEaIM

|4..un = ALMN

Reasons Bank:

A. Given

B. Reflexive Property

C. Alternate Interice Angies
D. Corespording Angles
E. Angle-Side-Angle

F. Angle-Ange-Side

10. What piece of information would prove
A4CE = ABDE by Side-Angle-Side?

4
M
8

C

C. ACaDB
D. Z4CE a £BDE

A. E bisects 4B and CD
B. AC|| DB

12. ARST is shown on the graph below.
™
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Which set of ordered pairs could represent the
vertices of a triangle congruent to ARST?
A {{1,-1), (7, -1), (%, -6)}
B. {(-7,9),(-2,8), (-2, 1)}
C {(-6 -1), (-, -5), (-6, -7)}
D. {(-3,0), (3, 0), (-1, -6))




